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Match #26


These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Jason Mueller, Marian Suter, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District, without prior approval of Shawn Pickrell, is prohibited. This is meant to keep question security.

(b)
The discussion or other reference to these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined is prohibited. This is also meant to keep question security.

(c)
These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups, 10 points each

1. 
Their frequency ranges from 1 gigahertz to 300 gigahertz, corresponding to a length of 1 millimeter to 30 centimeters. What waves are most often generated at 2.45 gigahertz to cook food?

ANSWER: microwaves (do not accept radio waves)

2. 
Ten million people in southern Germany and Romania use this river for drinking water. It has been important in history as a boundary of the Roman Empire and in the arts as the name of a German school of landscape painting and the name of a Strauss waltz. What is this river that flows through four world capitals -- Bratislava, Belgrade, Budapest and Vienna? 

ANSWER: Danube River

3. 
The events of this novel are seen from the point of view of Claudia MacTeer, a nine-year-old, whose eleven-year-old friend Pecola Breedlove became pregnant from an incestuous rape.  Claudia and her sister plant marigold seeds in the childish belief that if the marigolds survive, so will Pecola's baby. The seeds never germinate and the baby dies. Name this Toni Morrison work.

ANSWER: The Bluest Eye
4. 
This masterpiece of English lyric poetry, published in 1789, was the poet's first great demonstration of "illuminated printing," in which the text and hand-colored illustrations were published together. Name this work by William Blake that contains the poem "The Lamb."

ANSWER: Songs of Innocence
5. 
A logical fallacy that consists of repeating something over and over, thus 'proving' it, is given what two-word Latin name that means, 'to the point of severe stomachache?'

ANSWER: argumentum ad nauseam
6.  
This pronoun in Spanish is the third-person reflexive pronoun. What is this pronoun also used in the impersonal sense in phrases such as "[BLANK] habla (AH-blah) ingles (EEN-glays)", which means "English is spoken here," and with an accent is the first-person singular of saber [sah-BAIR]?

ANSWER: se [say]

7. 
THIS IS A COMPUTATION QUESTION. What is the intersection of the two sets {1, 3, 6, 7, 8} and {3, 5, 8}?

ANSWER:  {3, 8}
8. 
It is three letters long and the cause of much annoyance to some chat room users. Since it is too long for a lazy chatter to ask 'How old are you?', 'What gender are you?' and 'Where are you from?', what three letters do these lazy chatters use to ascertain the answers to these questions?

ANSWER: A S L (age/sex/location)

9. 
 His wife, Roxelana, started as a slave in his harem; their son, Selim II, followed him. He was noted for his tolerance of Jews and for ordering the walls of Jerusalem rebuilt. In the Islamic world, he is known as the Lawgiver, due to his legal reforms. What Sultan ruled between 1520 and 1566, brought the Ottoman Empire to its greatest territorial extent and is known in the West as the Magnificent?

ANSWER: Suleiman (soo-LAY-man) the Magnificent

10. 
Three Virginians died in incidents at these work locations in 2004.  An average of 7000 die every year in China, which has pledged to lower this number to 5000 by 2007.  No fatalities have occurred yet this year in what work sites in Virginia, found primarily in Wise and Buchanan [buh-CAN-non] Counties and in towns such as Bituminous (bih-TOO-mih-nus)?

ANSWER: coal mines
11. 
He once said that women bought his company's stock because there was a picture of him on the certificates. He disowned all his sons save for William, matching his statement, "The public be damned." He famously fought Jay Gould for control of the Erie Railroad. What 19th century railroad and shipping magnate was able to give money to a university in Nashville that is named for him?

ANSWER: Cornelius Vanderbilt
12. 
Leper is the first student from the school to enlist in the armed service and becomes its first casualty when he "cracks up." Brinker Hadley is a class leader who instigates a trial against Gene, the narrator. Gene's roommate, Phineas, is the best athlete in the school. These characters appear in what novel by John Knowles?

ANSWER: A Separate Peace
13. 
They were the only civilization in the New World to develop a complete writing system, recorded today in books such as the Popol [poh-POAL] Vuh [VIEW]. Their final kingdom, Itza [ee-TSUH], was conquered by the Spanish in 1697. What civilization flourished on the Yucatan Peninsula and Guatemala between 200 and 900 AD?

ANSWER: Mayas or Mayan civilization

14. 
In Stage 1, people do not yet believe they are undergoing it. In Stage 2, K-spindles occur in EEG recordings. Stage 3 has the appearance of delta waves in EEG recordings and Stage 4 is also known as the "slow wave" variety of this. A rapid-eye movement stage is the fifth stage of what bodily function that nearly everyone will undergo tonight for between six and ten hours?

ANSWER: sleep (accept non-rapid eye movement sleep before rapid-eye movement is mentioned)

15. 
Four were hospitalized and seventeen injured following an August stampede at the Richmond International Raceway, where thousands tried to obtain what Apple product for $50?

ANSWER: Apple iBook (prompt on "laptop")

Second period, 10 directed questions per team, 10 points each

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A. 
What element's atomic number is 47?

ANSWER:  silver
1B. 
Most mortgages are paid using what method, wherein a fixed payment is made over the term of the mortgage, each payment including some principal and some interest? 

ANSWER: amortization
2A. 
THIS IS A COMPUTATION QUESTION. In simplest terms, what is the slope of the line 3x plus 12y equals 4?

ANSWER:  -1/4 or -.25
2B. 
In his "The Ballad of East and West," what English poet said "East is east and west is west and never the twain shall meet"?

ANSWER: Rudyard Kipling
3A. 
William Sydney Porter was the real name of what American short story writer?

ANSWER: O. Henry
3B. 
What type of volcanic rock forms most of the ocean floor and is also found on the seas on the Moon?

ANSWER: basalt
4A. 
Paracelsus came up with the name for what dwarflike creatures that guarded treasures underneath the earth, and can today be found either on lawns or in bad Travelocity commercials?

ANSWER:  gnomes
4B. 
What name was given to the 1950s art movement drawn from mass culture, most notably Andy Warhol works such as Marilyn Monroe and Campbell's Soup Cans?

ANSWER:  Pop Art
5A. 
What Georgia mountain has Robert E. Lee, Stonewall Jackson and Jefferson Davis carved into its side?

ANSWER: Stone Mountain

5B. 
THIS IS A COMPUTATION QUESTION. 710.6 is what percent of 3740?

ANSWER:  19 percent

6A. 
What is the term for an apparently absurd or contradictory statement which, when explained, proves to be logically sound?

ANSWER: paradox
6B. 
What judge, nicknamed “The Incorruptible,” was a member of the Committee of  Public Safety and oversaw the French Revolution’s Reign of Terror before being guillotined himself in 1794?

ANSWER: Maximilien Robespierre
7A. 
THIS IS A COMPUTATION QUESTION. Take the line 3x + 5y = 10. What is the slope-intercept form of an equation perpendicular to that line whose y-intercept is 3?

ANSWER:  y = 5/3x + 3 (the original equation is y = -3/5x + 2, hence the slope of a perpendicular line would be 5/3)

7B. 
Steve Nash became the first Canadian to win what professional sports league's MVP award?

ANSWER: The National Basketball Association

8A. 
What two Italian-born anarchists were executed in 1927 for robbing over $15,000 from a shoe factory and killing two of its employees, despite doubts over their guilt?

ANSWER: Nicola Sacco and Bartolomeo Vanzetti
8B. 
These brothers come from a family of distinguished surgeons and founded a well-known clinic in Rochester, Minnesota. What is the family name?

ANSWER: Mayo
9A. 
James Gandolfini portrayed which patriarch of an organized crime family on an eponymous HBO television series?

ANSWER: Tony Soprano
9B. 
In what Charles Dickens work will you find the character Fagin?

ANSWER: Oliver Twist
10A. 
What bone is located in the upper arm?

ANSWER:  humerus
10B. 
THIS IS A COMPUTATION QUESTION. One shopaholic starts with $100,000 and spends, each day, 10% of what he had at the start of the day. The other shopaholic starts with $200,000 and spends, each day, 20% of what she had at the start of the day. How much will the two have, combined, after two whole days of spending?

ANSWER:  $209,000 (shopaholic one has $81,000 and shopaholic two has $128,000)

Third period, 15 toss-ups, 10 points each
1. 
THIS IS A COMPUTATION QUESTION. If a 20-foot by 25-foot room has a 7-foot by 11-foot rug, how much area is left bare?

ANSWER:  423 square feet
2. 
American literature has many heroes. Who might be the hero to the American male who is NOT mechanically inclined, who is a bumbler, who is forgetful, a character created by James Thurber in a well-known short story?

ANSWER: "The Secret Life of Walter Mitty"

3. 
What is the molecular mass of carbonate?

ANSWER:  60
4. 
He began as an assistant to Carleton Watkins, taking similar photographs of Yosemite National Park.  Philip Glass's opera "The Photographer" is about this man, particularly his acquittal of murdering his wife's lover, Colonel Larkyns, on the grounds of "justifiable homicide".  What man is perhaps best known for giving Leland Stanford photographic proof that at a certain point all four of a horse's hooves are in the air at the same time?

ANSWER:  Eadweard Muybridge
5. 
Delaware did not ratify it until 1901; Kentucky ratified it in 1976 and Mississippi ratified it in 1995. The Supreme Court has ruled that the military draft does not violate it, and its text specifically allows duly convicted criminals to be part of a chain gang. What Constitutional Amendment states "Neither slavery nor involuntary servitude" shall "exist within the United States?"

ANSWER: Thirteenth Amendment

6. 
She is the only woman to be inducted into both the Rock and Roll Hall of Fame and the Country Music Hall of Fame. Her nickname, "Little Miss Dynamite" came from both starting her recording career at age 12 and for being only 4-foot-9. What woman performed the songs "All Alone Am I", "Break It To Me Gently", "Rockin' Around the Christmas Tree" and "I'm Sorry?"

ANSWER: Brenda Lee
7. 
Her stepfather, Danny Guynes (rhymes with lines), committed suicide when she was a teenager.  She landed a role on General Hospital at age 19, but director Joel Schumacher fired her from the set of St. Elmo's Fire when she showed up high on cocaine.  Which actress later got her act together to star in Ghost and A Few Good Men, and recently married Ashton Kutcher?

ANSWER:  Demi Moore
8. 
This sequence of works describes the growth and development of the poet's love, at first hesitating to involve him in her sorrowful invalid life, then yielding to gradual conviction of his love for her, and finally rapturous in late-born happiness. Name this collection of love poems written by Elizabeth Barrett Browning.

ANSWER: Sonnets from the Portuguese
9. 
The Paleocene and Neocene are its two periods. The 'Age of Mammals' is what geologic era that started 65 million years ago and continues today?

ANSWER: Cenozoic Era

10. 
He never used the title Emperor, but instead preferred the title of princeps [prin-KEPS], or 'first citizen'. He tried to expand Rome's power to the west, failing against the Germans at the Teutoborg Forest disaster. Reigning between 27 BC and 14 AD, what man, whose birth name was Octavian, was the first Roman Emperor?

ANSWER: Caesar Augustus (accept Octavian before mentioned in the question)

11. 
She first gained fame by appearing in two high-profile music videos of the early 1990s:  Michael Jackson's "Black or White" and George Michael's "Too Funky".  She had a recurring role on "The Fresh Prince of Bel Air" as Will's girlfriend Jackie, but is better known for her work in Victoria's Secret ads and on a UPN TV show.  Who is this host of America's Next Top Model and a new daytime talk show?

ANSWER:  Tyra Banks
12. 
While a Francophile loves France and French things, what culture does a Sinophile (sy-noh-FILE) (then spell the word) love?

ANSWER: Chinese or accept China
13. 
Ernst Chain, Howard Florey, and Alexander Fleming won the 1945 Nobel Prize for the discovery of what antibiotic found in moldy bread?

ANSWER:  penicillin
14. 
He was Speaker of the House when he was elected President. He had four goals: re-establishing an independent Treasury, reducing tariffs, settling the Oregon boundary dispute and acquiring California. He promised to serve only one term; in fact he died in June 1849, which would have been in his second term. What eleventh President, the first ‘dark horse’ candidate to win, served during the Mexican War? 

ANSWER: James K. Polk
15. 
The holder method involves 30 minutes at 65 degrees Celsius; the flash method involves 15 seconds at 72 degrees Celsius; and the UHT method uses at least one second at 132.2 degrees Celsius.  Name this bacteria-killing process used on milk named after a French scientist.

ANSWER:  pasteurization
Spare questions 
Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1. 
In the sentence "It's my turn to fix dinner; therefore, I can't go to the mall with you this afternoon," identify the conjunctive adverb.

ANSWER: therefore
2. 
THIS IS A COMPUTATION QUESTION. What is the cube root of negative 512?

ANSWER:  negative 8
3. 
What phase of matter has no fixed shape and no fixed volume?

ANSWER:  gas
4. 
In the book of Judges, this Israelite tribe was nearly exterminated by the other tribes after they sided with the Gibeahites [GHIH-bay-ah-ites] against the Israelites. Later on, when the Kingdom of Israel was divided after Solomon's death, it formed the Kingdom of Judah along with the tribe of Judah. What was this tribe named for the younger son of Jacob and Rachel, during whose birth Rachel died?

ANSWER: tribe of Benjamin
5. 
A carmaker can make 5,000 cars a year for $25,000 each, while a rival carmaker can make 10,000 cars a year with similar fixed overhead for only $20,000 each. The rival carmaker is benefiting from what economic concept where larger firms benefit from less overhead per unit of output?

ANSWER: economics of scale
All questions ©2005 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

